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SIS, I
K& (BFRES) #38 AT IR FiTE%E (M)
BIEGEL KENNETH BER 10,000
KF fLEF EER 20,000
A+ EB PN 10,000
ER FAE AR 50,000
£k BE AR 10,000
TR FIKER ANE 50,000
TiR IEEA BINE 200,000
TR IEEA BINE 200,000
TR #H%E MILR 30,000
ER FALAE ANE 30,000
hiE AT AR 30,000
i X BEE 20,000
& Bz I BB 1R 10,000
HFE BB EER 50,000
TR st BHE 30,000
Pk & RIHD 10,000
#i5 BH IR 10,000
FIH Al fiE] LR 10,000
X8 R AR 30,000
KH EAN RIRHD 10,000
Bl ®F PN 5 10,000
EHE SRE 10,000
Nk FEE =g 10,000
ol B2 FER 10,000
AE BHE PN 50,000
EH = R ER 50,000
ik 1EX ARIE 50,000
& HiF BRI ER 30,000
BH W& AxIE 10,000
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SIS, I
K& (BFRES) #38 AT IR FiTE%E (M)
1R i BRI ER 10,000
A A% GmA HER 10,000
TAX BEF HER 10,000
I RE BRIAR 10,000
= BT PN 10,000
=B F LER 10,000
ERR HEX PN 10,000
fEik &= RIAD 10,000
B KX RIAR 10,000
LR R EER 30,000
IR 7 RIAD 10,000
iR E& WLOg 10,000
WH H<H TER 25,000
LWE E& PN 10,000
19]=: .oy Lag 30,000
(1T NNy 3 dbimE 10,000
A FH R AR 10,000
WA #3 xR 30,000
wx FE RIRHD 10,000
B =iE gl 10,000
%H FET =g 10,000
SR EiE s 10,000
o KE RIER 10,000
MR RE BEINE 20,000
Ay S e R ER 30,000
wH g mEIE 10,000
st BRIRHD 10,000
@l BEAR 12 f 2 10,000
LH ST BRI ER 10,000
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XEFRRE . IBARR]

K4 (BAFRER) FRERFIR HE%E (M)
HEEF "B ELE 20,000
3 AEF EEER 50,000
B = HEJNE 10,000
K EZ BEE 10,000
0 Bz R AR 10,000
B EE NG 500,000
hix EA BER 10,000
£H B pi:E=JIN= 10,000
FHRE FlX BEER 30,000
JIFT A& =F& 10,000
f ExE KB FF 20,000
HE BE fif] LU 2 10,000
FE BT BIRED 10,000
KAR B FEER 10,000
KL #— FEER 10,000
KE 1858 g 10,000
A FEEB 10,000
g TR BRIRAR 10,000
il EE =ZRE 10,000
FR FOFRF BIE 50,000
hE ZNBR KB FF 10,000
E&I & Z5NE 10,000
RAI BF BRIRED 10,000
Hf FX FEB 10,000
ERH EXF FEE 10,000
At FE KB FF 20,000
gL R HEJIE 10,000
BEV i G 10,000
BAK EBEF GF=R = 10,000
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SIS, I
K& (BFRES) #38 AT IR FiTE%E (M)
J\%& ZHA RITER 10,000
BT B4 AR 10,000
FiE EH 1= R 10,000
A PN 10,000
Sl &S EER 20,000
FH =X BHR 10,000
HH# %= 1a it B 10,000
EFR=# BE PN 500,000
EZF E5T AEIE 10,000
EH B BHE 100,000
BiE ThK RIRAD 10,000
EH #9F RIAD 10,000
Eik —H RIAR 10,000
E4 FER 10,000
E4 BFHME 10,000
E# ARG 10,000
Ef ARG 10,000
E4 12t 10,000
Ef RIRHD 10,000
E4 KRR FF 10,000




